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L o e e i o o - 1960 TR SR Hen T e
TRATH Q0 IR a1R 2
1) oy, fAe g dem | (2) T, foramg 9 gae
(3) oW, Hew 3 R () o, four 9 grem

As per the ‘Indus Water Treaty 1960’ between India and Pakistan, on which rivers
water does India have absolute claim ?

(1) Indus, Chenab and Jhelum - (2) Ravi, Beas and Sutlej
() Jhelum, Sutlej and Chenab ~  (4) - Chenab, Beas and Jhelum
2. WG PR dre Wi w7 o
(1) e ERI A (2)1%@?1'&"
(3) e e ' R
- Which of the followmg is the best quahty iron ore 70
(1) Hematite e e (2) Limonite k

(3) Magnetnte (4) None of the above

3. mmmmwmmw
() s, R, fdfe, wfvees

@) Tfefes, ﬁﬁmrﬁag nmﬁas freifee
3) ﬁﬁmﬁ@sﬁ?ﬁﬁaswmﬁassﬁﬁmﬁa's“
4) ﬁﬁf@swmfessﬁﬁar@sﬁ@m@s*

Correctly arrange the followmg passes 1n Indxa from West to east
(1) Mana Pass, Shlpklla Pass, N1t1 Pass ZO_]lla Pass

(@) Zojila Pass, Shlpklla Pass, Mana Pass, Niti Pass

(3) . Shipkila Pass, Niti Pass, Mana Pass Z0311a Pass iny

(4) Niti Pass, Mana Pass ZOJlla Pass Shlpklla Pass

4. maﬁmﬂqﬁsmwﬁg@sﬁm memv
(1) =™ ga1 (2) . < e ~
(3) YIS 3T TEGEA= T (4) <z foran Tt qufendt

Saline and Alkaline soils are also known by another name. Which is the correct
option given below ?

(1) Desert soil : (2)

: ~ Chopan soil
(3) Wet and Marshy soils | (4)

Chestnut or grey brown soil

ol HHTATS! ST / SPACE FOR ROUGH WORK P.T.O.
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B. S e wdld W wicllctleb) shvrea Tt fd oM 7
(1) WERY — seiae
(2) TWEWE — ey Wy
®) wEmwmw—wdwe ol g
(4) TERY — e '

Which of the following States are associated with Pench Tiger Reserve ! ?
(1) Maharashtra — Chhattisgarh

(2) Maharashtra — Madhya Pradesh
3). Madhya Pradesh — Chhattisgarh
(4) Maharashtra — Karnataka

6. 2001%mmﬁ3w memmmm

1) sfem 2) wEry

@ (4) mm s

As per 2001 Census the followmg State has the hlghest populatlon of Scheduled
‘Tribes in India. ‘ S

(1) Odisha ik (2) Maharashtra

® Rejasthan f (4) Madhya Pradesh

7. u*mgﬁﬂazouwwﬁgqn?ﬁw@wmgwﬁémﬁ—%ﬁvﬁv
(1) H=E TR, 3, aaéma,ﬁam o |
@) Hd R, e SR, 0, Fewr,
(3) H IR, Yk A, o, g, ey
(4) T, Gaf TR, HeRTy, T, 5 S

As per 2011 Census,
in Maharashtra ?

(1) Mumbai Subtirb, Thane, Mumbai City, Kolhapur, Pune-
(2) Mumbai City, Mumbai Suburb, Pune, Kolhapur, Thane
(3) Mumbai Suburb, Mumbai City, Thane, Pune, Kolhapur
(4) Thane, Mumbai City, Kolhapur, Pune, Mumbai Suburb

ZHTHTATS! ST | SPACE FOR ROUGH WORK
Foedl

which are the first five districts according to Population density
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g, STEIURT 2001 Afdr 2011 W wERIY Ure fom qvimed fhdl B o 2

1) 09 2) 90 @) 19 (4) 29

What is the difference in sex ratio of Maharashtra State as per Census 2001 ang

20117 ‘

1) 09 2 90 @) 19 i (4) 29
9. EIRIGACCIEA

A, WIES W IO SRS Yo A .

9. WE® 8 TEMHES NSEAT S,

%, T U N N uma}sax T el

At W : : ‘

1) eRRMEmIRWIm @) Wﬁmaaﬁma@

@) fumsafrawsmama Al ﬁanaanﬁmaﬁazaqﬁa

Observe the following statements R MRl

a. Maval sectlon does not come m ram shadow area.

b. Maval area is known for its chmate |

c. Kasheli Ghat connects Poladpur and Mahabaleshwar

Answer options: L

(1) Only statement a is correct .j f o ( ) Only statement b is correct

(3) Statements a and b are correct ! “‘(4) ‘Statements b and c are correct
10.  ‘THET SheAT Ta'mgﬁmm M«aqm 31](506d|\1 I |

@ WE @ WE ® w0 mehwd

In which district of Maharashtra are the ‘Darekasa H111s located ‘7

(1) Nagpur (2) Chandrapur | ( 3) ' Gondia “(4) Gadchiroli
11. 2011wmoﬁwmngﬁﬁeﬁmﬁﬁ‘ahm@%ﬁm a;ram%?

(1) 163 <.Fraf, ‘ (2 193 =h.feA

@ TashiEA, (4) 93<hfrA.

As per the Census 2011, what is the ‘Population denS1ty of Gadchiroli dlStI ict ?

(1) 163 sq.km (2) 193 sq.km

(3) T4sq.km

(4) 93 sq.km

oedT HIETATS! ST / SPACE FOR ROUGH WORK

P.T.O.
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12,  wrefie Ry e

A Je@ Al ITEg Riegam om
9. SR Al 90 Riegama o,
%, Toeeen o W e wre Regam om
shord e s e
/ a9 M
(1) o o1 R (2) o @ T T A e

(8) R A 95 REm i s (4) aﬁaﬂéﬁmﬁmm

Observe the following statements :

a. Verul caves is in Aurangabad district.
b.  Chambhar caves is in Pune district.

c.  Chikhaldara hill station is in Raigad district.

d. Gautala National Park is in Jalgaon district. |

Which of the above_statements is/are correct ? b S LN ;

(1) Only a statement is correct (2) Only b and c statements are correct
(3) Only a and d statements are correct (4)  All the above statements are correct

13. W et o ;o

(Mfomfeds)  (Remfw)
R IRt 1180 . o SRRy
1) I v LU Ty A 20
(2) II I IT, 0 ATV
(8) II . -1 i IVl
4 I " 1Iv | S 1 | G
Match the following : i Ly et

Column I R - Column IT

. (Thermal Power House) - - . (District)
a. Chola - . L Mumbai
b.  Turbhe ‘ II.  Akola
c. Fekari III. Thane
d. Paras - IV. Bhusawal
Answer options : e :

a b C d

(1) 1II Vil II
@ m 1 I IV
@ m I Vi
(4) II v I 111

. Zyoed] HETATS! SN / SPACE FOR ROUGH WORK
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(1)
(2)
3)
(4)

7 A14

ASHTE, FUTHTE, SR, st
AehETe, e, e, goae |
Y, B, afiehare, s
YBHTE, e, Aelare, Furcliae

Which of the following sequence of Ghats in Maharashtra from North to South ig
correct ?

)
@
e

@)

Thal Ghat, Kumbharh Ghat Amba Ghat Amboh Ghat

~ Amboli. Ghat Amba Ghat Kumbharh Ghat Thal Ghat

Thal Ghat, Kumbharli Ghat”,‘ Amboli Ghat, Amba Ghat -

Thal Ghat, Amba Ghat, Amboli Ghat, Kumbharli Ghat.

15. - Tﬁ@w@amwﬁaﬁaﬁaﬁwmﬁh@ﬁmaﬁm%?
)} ﬁma‘]ﬁmgnéwﬁwﬁ
(2) e, 0, Wiz, 9, from
(3) i, ud, o, 310, v

(4)

rhmﬁmﬁrwngrréaﬁﬁ._

In Tapl — Purna river- basm which of the followmg sequence of rivers from North to
South is correct ? ? il :

(1)
2)
3)

(4)

Girna, Bori, Panzara, Burai, Gomati
Gomati, Burai, Panzara, Bori, Girna
Gomati, Burai, Girna, Bori, Panzara .

Gomati, Panzara, Girna, Burai, Bori

T FTHNITS SR / SPACE FOR ROUGH WORK

P.T.O.
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16.  ghaswidNw R et e e A R, g e i e,
(1) g (2 = @ T @ T
. has the major foodgram crop productmn recorded as hlgheSt growth
after green revolution. \ ittty | %
(1) Rice (2) Bajra (3) Mai‘ze"‘ i (4_) Wheét
17, T ymfior I @ e (NREGA) s awf%rﬁzrﬁm 'sﬂ?ﬂ
(1) R 2001 . (2 EeR 2002
(8) | 2005 R g w%atzoll LT

The National Rural Employment Guarantee Act (NREGA) Was enacted in -

(3)  September 2005 . \(4)- 'Septemb:ef‘2v(;):.1‘1"‘.:'}f;"7‘,‘I'f :
) 3t w3t @ o (2) aﬁntﬁ ;a:‘
3) ﬁmnﬁﬂ% C e i (g ﬁ%sﬁnaa

Which of the followmg is not an outstandmg hablhty of. Central Govermnent ?
(1) Internal debt i B R g [

(@) Marketloans CniL g o
(3) Treasury bills (4) Forelgn ald i i

19. S R emm muﬁa

o)) ﬁﬁwﬁ%ﬁwﬁtﬁ
(2) forfimqe

(3) TR 3R Tt sy g
4) aﬁfﬂﬂauﬁrﬁ?ﬁqmm

Which of the followmg has - been . suggested as a substltute for the Fiscal

Responsibility and Budget Management (FRBM) Act by the Fourteenth Finance
Commission ?

(1) Fiscal Consolidation Fund

(2) Fiscal Deficit _

(3) Revenue and Debt Management

(4) Debt Ceiling and Fiscal Responsibility Legislation

FHoeqT HHRATS! ST / SPACE FOR ROUGH WORK
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20. Wammw\mﬁﬂm
1) am 2) <’ (3) e (4) e
India is the world’s largest producer of :
(1) Jute (2) Steel (3) Cement - (4) Sugar
21. 1950 — 51 72013 — 14 a1 Fre wm?ﬁaeaarr?ﬁﬂmwﬂﬁﬁ?ﬂa g fewn
— TIHIH Seen o,
(1) 16-67 26-2 (2) 3061 59-2
(8) 1697 362 (4) 1561 362 -
The share of secondary sector in GDP in Ind1a from 1950 — 51 to 2013 14 has
increased by per cent. ‘
1) 16:6t026-2 . (@) 30-6t0592 -
(3) 16:9 to 36-2 K i (4 156t036:2
22. el WHATER 2011-12 W wRaW g Yerehw SienicE i ol
M 219% @ 275% (3. 32 (@) 429%
According to Tendulkar Committee, the total percentage of populatlon in India below
the poverty line in 2011 12 was i 07
L 219% @) ZT0% () "37'-.2% @ 429%
23. tr@avﬁmwsﬁmzoooémc—ﬂ%aa( )3@2%@%

x4 mwgﬁmwm?ﬁwﬁawmmgﬁmmm

. Wmaammmwwm

%. |4 ga (I ma‘ﬁma@ﬂw@w@r
(1) FEd JINMUT (2) HHdh 38) wFT (4) EE A

" The immediate objective of the National Population Policy 2000 was

a. to meet the needs of health infrastructure and to provide bas1c reproductlve
health care.

b.  tolower the total fertility rate to the replacement level.

c. . to achieve universal immunization of children.

Answer options:

(1) Onlyaandb (2) Onlyc (3) Onlyb . (4) Onlya

FoeqT HIHTATS! ST /| SPACE FOR ROUGH WORK T ; ™ PTO.
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24. Wl e wEwrS awE ST R s g O e 7
) e T (2) welfd-gRA TG
(8) U (@) e o T lo?
The WTO agreements are based on which of the following important pnnap i
(1) Non-discrimination (2) Most- favoured nghiod
(3) National treatment . (4 None of the above

25. Wit faum famm = .
3. memamwﬁmmm%mm :
. Wﬁ"ﬂ(@%@ﬁﬁ)wmmmmﬁ%mﬁmwg@

T e,
» memmemzoog 10m:ag{ammm
@) ﬁl‘éﬁuﬁ?@aﬁa , 3 e _‘WH; i o
s i ‘ sl ). qm ‘3‘; Ko

Con51der the following statements : A

a. Rashtriya Krishi Vikas Yojana was launched durmg the 11th Five Year Plan.

b.  The Mission for Integrated Development of Hortlculture was launched durmg
‘ the 12th Five Year Plan. ' i) Y :

C. Natmnal Food Securlty M]ssmn was launched in 2009 10
Which of the above statements 1s/are mcorrect e B T

(1) All the three are 1ncorrect ? L (2) Onlyb i
3 Onlyc ‘ o o (4) Onlya ! B
26. ¥92018-199%} %m?n?ﬂa ﬁa‘iﬂ Wﬁﬁ é’ﬂﬁn 1%1:{41 E‘q'ﬁim aﬂ%

D Wi e

(3) omifefiee (4) ﬁaﬁaﬁﬁ _

. occup1ed the ﬁrst place in Ind1a s export earnings in 2018 19.

(1) Jute garments AR d (2D Readymade garments

3) Engmeermg goods I (4) Gems and Jewellery

217. mm@mﬁmmmw ?

(1) - SergeA (@ v ﬁg?ﬁw

@ mwwmwE (g L
Which one of the following is not a part of Bharat Nirman Programme ?
(1) Irrigation ‘ - (2) Rural electrification

(3) Schools in rural areas (4) Rural roads

oegT HTHTATS! ST / SPACE FOR ROUGH WORK
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28,  WHT S+ Wy ARy ¥ s, A e e,
3 S 21 w3 el
3 VAT = e g
SRR U D L
e I - 74
(1) & A, 5 i g N i, (2) A I, F AN H f
() R, w afirg (4) R 3, a'alTﬁIl:c: Y
The main features of Payment Banks are . Choose the correct sentences.
a. - to accept deposits upto T 1 lakh per 1nd1v1dual
b.  to allow the use of ATM and debit cards o
c.  toallow the use of ATM
d. not tolend in any form
‘Answer options : Wil
(1) Onlya,candd ; l(2) Ohlyé béndc ,  :
(3) Onlyb,candd () Onlya bandd‘
29. TR HiHdl (2014) T8 T 2011 - 12 9, ;rr:ﬁwamzﬂ wmmzrﬁaﬁmm‘éz@i
T et fafvera sweoama ?ﬂﬁﬁ "y
(1) 32 37fr 47 . s 3231TF7167
(3) 32 3ftr 87 ey 31 am?n 97 ,
- As per Rangarajan Commlttee (2014) deﬁned poverty lme for 2011 12 for rural and
urban areas per caplta is¥ SR AL
(1) 32 and 47 | @ 32andé7
(3) 32 and 87 | (@) '31and 97
30. amqmazowgmmmﬁﬁamhaﬁna 1a%;ahmrrg‘iamﬁﬁa%w
TFHAR.
(1) 41 : (2 35 g
(3) 173 4) 83

The Oxfam Report 2018, says that the richest 1 per cent of the people are generating
per cent share of National Income in India.

1 41 : ' (2) 85
3) 73 (4) 83

FoeT HRTIATSY ST | SPACE FOR ROUGH WORK

P.T.O.
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81. Yo fafay e oidt AR suarardl Hivrd Tgd T !
(1) e TEd (2) @l e 964
(8) TR Ugd (4) 92 vgd -om the Barth ?
Which method is used to determine the distance of different stars
(1) Gravitational method (2) Parallax method -~ :
' (8) Parallel method 4) lre({mi__/
32 IR Ao (W %) wH T MR IR, e
1) W (2) T §hae
8) ¥ e | (4) WRmETeEF T
-Working of a Solar cell is based on ; '
(1) Stark effect (2) Coulomb effect
(3) Zeeman eﬁ‘ect R s (4) Photovoltaic effect
'83. WWWWW@mWWWﬁWW@W ?
(1) "= (2) s
(3) mﬁﬂ‘g St C (4) A
Who was the earliest to use algebra to solve astronomical problems ?
(1) Bhaskara : (2) Brahmagupta '
(3) Arybhata ' -~ (4). None of the ‘.above '
34. Waﬁqha@ﬁm T 3. g
1) Cu,Zn,Ag . . (@) Cu,Zn;Ni
(8) Cu, Ni, Ag i 4 (4) Cu,Zn, Al
The copper alloy German Silver contains :
(1) Cu,Zn, Ag gy s 8RS (@) Oy Ziny N S
(8) Cu, Ni, Ag ' pes (4) Cu,Zn, Al
7. fftw v figema
. ﬁm@a?ﬁ o A,
) aaﬁaaﬁmmﬁ T (2) & M &% T 3R
(3) 31 3MfOr % WK MMed (@ U9 T S ST
- A crystalline solid has e REE ' -
a. definite geometry.
b. sharp melting point.-
c. anisotropic property.
Answer options : : _ ‘
(1) aandbis correct (2) b and cis correct -
(3) aand cis correct ‘ (4) All of the above are correct

o] HTATATS! SIATT | SPACE FOR ROUGH WORK
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36, WiEw W, e wrviidia YRGS 1 STER 3R,
(1) aﬂﬁﬂfﬂ < (2) 31U AT
(3)  3AUTHT SHHTH (4) IR IMH
According to Moseley, the basis for the periodic arrangement of elements is
1) AtOllllC welght (2) Atomic mass
(3) Atomic number (4) Atomic volume
87.  IMYRT ASHIUR TR W e @refiersmml
A MR, B, HHC, e, i
€. WA, sﬁi%ra B, WA, eﬂﬁﬁ?ﬁm
%, MW, wm, Wi, \ﬁﬂﬁm, EERRio
3. WANU, BOE, FACE, @i, it
o T T I S 2 | |
(1) ® & (2) BF T (8) W AH (4) %ad 3
The five kingdoms under the recent scheme of classification are”
a. Protista, Fungi, Mammalia, Annelida, Plantae
b.  Monera, Protista, Fungi, Plantae, Animalia
c.  Protista, Fungi, Plantae, Porifera, Animalia
d. Monera, Fungi, Mammalia, Plantae, Ammaha :
Which of the option given above is correct i it i _
(1) Onlyc (2 Onlyb (3) ‘Onlya (4) Onlyd
38. Wmﬁwm%mﬁﬁw%ﬁwmmﬁmm
BRI ARIRE ﬁmﬂ qaref feggdar.
(1) 3T P @ fEd
3) feefen i L (4) R
A toxic substance respons1ble for chllls and hlgh fever recurmng every three to four
days in malaria fever is due to ;
(1) Interferon AT i i 3(2) Hemozom i
(3) Hirudin L T () ' Colostrum
39. “onfher feerdin faera” mmwﬁ@mﬁaﬁaﬁwwﬁaﬁ@@aﬁ? ~
(1) o i ; (2) e
(3) T=RH ‘ @) e (Ruad
The disease “African Sleeping Slckness is . caused by which of the following
parasite ?
(1) Trypanosoma ‘ .' | (2) Paramoecmm
(8) Mosquito (4) Tapeworm
40, et T gPEfeT GUTEY Geliedh! S T By ?
’ 1) forerem (2) ofeieTEeE
(3) oifveiaged ' (4) FREEE
Algae and fungi are classified in which of the following groups ?
(1) Gymnosperms ‘ (2) Thallophytes
(8) Angiosperms (4) Bryophytes

. ProegT BIETITS! ST / SPACE FOR ROUGH WORK ' . P.T.O.
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41. @Fﬁﬂﬂﬁmﬂ"ng@ SUSTEHU 0 e i eyt -0 }Hjﬂ:{m !
(1) W%ﬂﬁ 3ﬁq§ aim)) (2) ;‘,”q;a eﬁz};{
3) VR ;’F JER (4) TR

In which of the following disease of plants does chlorophyll of the leaves get
destroyed and the leaves shrink ?

(1) Mosaic disease of tobacco (2) Citrus canker
(3)  Smut of jowar "~ (4) Rhizoctonia
42, Erelierddt Fon S @ T we ae ?
1) = 9| | (2) ufRt e
(3) ussiform @) 1o gha dema
Which of the following biofertilizer is added in rice fields ?
(1)  Red algae (2) Brown algae
~ (3)  Rhizobium : : (4)  Blue green algae
43.  ftam Erefiedsh A I AT srf%ﬁﬁwn BRI EEZCICN

3. ﬁ&ﬁaﬂaﬂﬁqﬁwﬁmm
9. WELIR Uy :

3 %ﬁmmﬁmﬁmmﬁaﬁmﬁmm

1) Wamﬁa ; , (2) I, FoArsF
(8) S A AT % @ wmaafs

Mechanisms by which bacteria becomes resistant to antimicrobial agents are
a.  Alteration in surface receptors for drugs

b. MDR pump _
c.  Secretion of inactivating enzymes

" Answer Options: _ _
(1) Onlyaandb  ~ R AT () a,bandc
(3) Onlyaandec ‘ (4) Onlybandec

44, Eihdrred @ fagamn 2d.
(1) ¥nH TR Heted Ui SFafen heamgs
(2) ﬁmﬁﬁeﬁmaﬁmaqwmﬁm%m@
3) wﬁaﬁwﬁﬁ?ﬁqmwﬁ%mn@amﬁw@

(4) F0a TE HRTHS

Staphylococcal food poisoning is caused by

(1) ingestion of preformed enterotoxin

(2). colonisation of mucosal surface followed by production of toxin

(3) colonisation of wound or abscess followed by Iocal toxin production
(4) All of the above reasons :

e BTHTAETS! ST / SPACE FOR ROUGH WORK
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45.  TEH SRS W TR g A o,
(1) T Tl Afswn ek, T R
(2) WA 3G Ay wiow, @ R
(8) et Ree i Few ot Tt Rk, e
(4) A TR BR il s
National Salmonella Phage Typing Centre is at

A14

(1) Lady Hardinge Medical College, New Delhi

(2) Maulana Azad Medical College, New Delhi 0,
(38) National Institute of Cholera and Enteric Disease, Kolkata
(4) National Centre for Disease Control

46.  T¥fa=g T Wﬁéavqm'cﬂ mm" e i Fra,

4 ?
8 ?
4 |2

5
12
6
3

OO

4)

- @)

&) @

4
8
6],
6

o o] e

5
6
4
8

S| |00 [ O

Select the logical column of .digits“for réplaéing the‘column of question marks.

21 &

?

5
2 E
6
3

o]l |n

6
4| |2
8
4

4)

(3)

(2)

(D

Dl |||

oo

5

6
4

8

S| O |00 | O

. o] HIAITS! ST / SPACE FOR ROUGH WORK PTO.
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47.

16 B
SIS ST R S @ a Rl wala din i 4 qar s o 9 R
et et Wegse! A visqug W R,
I TR AER ﬂﬁm G- sHagR e @ aavEEE
Rt fawma awea
1) Waﬂﬁ‘m , (2) dicaTaewSH il IR
(8) mmard Infr e (4) wHER i IRferes
Select the pair of words or word groups that fit in each of the sentences to make two
separate and havmg equivalent meaning in the given context.

The stock market having plunged drastlcally, the investor's ___ mood on the
trading floor seemed incongruous. oy %

(1) enervated and funereal - (2) inconsolable aﬁd sardonic
(3) sanguine and buoyant ' (4) enervated and sardomc

48,

H@w12345aﬂfﬁremm¥ﬁwmm 3 & e 1 fohar 6 =

o BT Tl =i 4 & W 6 = fovg gERR L SR 1 € He St Yser Tgid I
Wﬁawmwmsmmmﬁmwwzmmm

1

1) 5 Ay A o
2 4 e g Wit
3 3 L,
(4) ﬁa&ﬂaﬁaﬁmﬂﬁ?ﬂ?ﬁwﬁ%

Study the accompanymg cube with numbers 1 2 3 4, 5 and 6 on its six faces.
Number. 3 is not 0ppos1te to either.1 or 6 and number 6 is not opposite to 4. If this
cube is rotated so as to keep number 1 on the top and right side face with
number 6 takes the front place that has number 2 now, then which number will be
on the right face ?

1

(1) 5

2) 4

3) 3 .

(4) More information is needed for selection

HoeaT BETATS! SR / SPACE FOR ROUGH WORK
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49,  WieA SIS HE HISH SRR e, ' |
1 2 2) 3 3) 4 4) 5
Accompanying net is folded to get a cube.
Select the number of vertices’ of the cube at Whlch two or more d1agona1 lines on the
faces meet. ‘ , G \ ,
m 2 .(2) B 3) 4 Ly (4) 5
50.  HIoaaT G HIGT ghsT X ST ST il 1o TR sheiel! T2t frarer,

PP @

Study accompanymg transparent sheet of paper X and select the fold that is made
usmg it. : ) "

P.T.O.



A14 ‘ 18 B

8L wiwn el hadel arcican TEUIHT RO WeRHTE wTerel! Iatd! el e
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T WAGH O YR A SR, SR A e T fae A Aaereren Se gue F4Ht

STHCANS TEEEAI=A go01 FERM Hedl MR Aéia ST maTen e HarE AR

3 IR TR AR A, I Rl (S9) Wrerevarh e SR, W el T
mwwmmmwmm -

et g 3 A e TR S HOm g Fe.
(1) ﬁa@@eaﬁmmwmmmmmwm

() ﬁ%ﬂﬁﬁwmﬁaﬁmmﬁmﬁmmmmmﬁwmm

(3) @ﬁwwmmmmmwmwmm
(4)“Ww&?haﬂmawa1%amaa@m@mwaﬂmﬁﬂwaﬁmm

The dechne in Voter turnout at electlons is chleﬂy explalned by the dechne in voting
by younger people who have very d1ﬁ'erent hfestyles Older people are much more
'hkely to vote If this trend contmues probably th1s W1ll lead to a po1nt at which no
govemment can be sa1d to have a mandate to govern as the number of voters will be
" too small to 1nd1cate the w1shes of the maJonty Somety needs therefore, to find an

alternatwe to conventmnal elect1ons so that the W1shes of the people can be heard.

Select one optlon that best expresses the ﬂaW in the above argument

(1) Elections are used in all democrat1c countr1es as the only well established

process of choosmg a government

(2) With the help of social medla young people may be more likely to join pressure

groups than to vote in an electmn

(3) ‘There may be problems in using alternatlves such as internet and postal votmg

due to remote res1dent1al places.

(4) People who are young now may become more likely to vote as they get older.
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it T i middtar anenfa am,

(L gl die swie R sl A, B, C, D ot B, ot st die wet amere

I it M, N, 0, P a1 Q e gt @it Tined seean o,
II. B 7O =1 AR 3R, S, M =41 eieflers @ TR
III. C 3Tl N Uehieh=am TR FURYa o,

V. B, S D = et g o, Q= W IR,

v. M 1 TRI=ET THT IhTell TR,
VL P,ﬁQW‘mww@,DwWaﬁ.
S B ¥ E = AR e, E 7 Q W S e I Q & B T AR e, W O =

e e SR gul S 1 R 2
® Q e R e Y P
3 E o v L) D)

)

The following question is bas.ed‘on the information given below :

1 A B,C,D and E' are five persons sit'ting'in a line facing South — while M, N, O,

P and Q are five persons sitting in the second line parallel to the first hne and
facmg N orth facmg each other. :

II. Eis opp0s1te to O who is just next, rlght of M.
III. C and N are diagonally oppos1te to each other.

IV. B who is just next to left of D, is opposite to Q.

V. Mis at one e'n'd of the line.

VI. P who is just to the left of @, is opposite to D.

If B shifts to the place of E, E shifts to the piace of Q and Q shifts to the place of B,
then who will be the second to the left of the person opposite to O ?

1) .Q (@2 P
@) E 4 D

P.T.O.
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el TR T AR o e omuT A @R wl Rl enfor RID feered e,
ﬁuwmmﬁawn%mmwshm '

Ry ;- Tl T WY HSa YHTUTR G @ (teleshopping) .
FRY Rl-aﬁstﬁwmmqaﬂﬂm: j
RII - 5! ST SR T e Fe d9a fied g,
Tt I
(1) |YeR ®Rv % RI R RII T
(2) HWEHIT FW %ad RIT 3R RI &
(8) YA HRW Q! A9 e RI ke RIT Mg
(4) G w0 RIS T8 Rt RI G T8

In the following question, an Assertion followed by two Reasons RI and RIL is 8“’911
Apply reasons to the Assertion and find the answer. '

e

Assertion : People these days are doing a lot of teleshoppihg.
Reasons : RI - People are watchmg TV a lot.
RII — People, these days, are not finding time to shop in the market

3 A

Answer optlons .

(1)  Only RInot RII isa poss1b1e reason

(2) Only RIInot RIis a poss1ble reason

(3) Either RI or RII but not both reasons
(4) | Neither RI .no'r RII is a possible reason

54.

aTE AT ST AT e SR, 8 R, T el R R SRS 95 5 TR,
AT e, G G SetRs ded 4 Al v e i A gEes 3 R s,
At At Sreliehs desen afvr 2 for.adt. AT e mﬁwwﬁeﬁﬁmﬁam
311% ?

1 14 y @ 12

3) 10 : 4) 7

Prashant starts from his house and travels 8 km towards North. Then he turns
right, travels 5 km, then turns right again and travels 4 km and then travels 3 km

towards East. Finally he turns left and travels 2 km. How. far is he from his house,
in kilometers ?

1) 14 | @ 12
3) 10 @ T

o] BT ST / SPACE FOR ROUGH WORK
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A, B,CHDWW@EEII?IU‘@’UTW.GQOO i e ifdfi ot wam 4 p
Q=T 50% T @ g Al W . @ s wesda fRdt dremn @ aifife i

M ?

55.

: A
2 20%
25%
B
C 23%
- 32% '
(1) 1240 : i ~3(2) 527 R,
@) 713 @) 1426

A survey is conducted on 6200 vﬂlagers staymg in 4 villages A, B, C and D and
havmg various favourite colours. 50% of people from village B have red as their

favourite colour. How many people from other v111ages have the same favourite
colour ? : frucly
A
20%
| B
C 23%
32%
Favourite colours ' - People staying in various villages

(1) 1240 ' @) 527

-3 713 (4) 1426
HeeyT BMTATS! ST / SPACE FOR ROUGH WORK ‘ P.T:Q:
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56. R 28 W, s R dgw s N @ e 7 M. e T . WA dTHs
feht 2
L e6=.M. (2 770WLA. () 1386 A (4) 28 M.
If the diameter of Aa circular track is 28 m and there is a 7 m wide road around the
track, then find the area of the road. ,
(1) 616sq. m (2) 770sq.m (3) 1386sq.m ~ (4) 28sqm

57.  Wiet V1 HEUAETE 5 Toi 12 g S
T HW HIE 15 W fohelt femrr wmTelier 2
1 15 | @ 4 3) 12 L@ 1e
Five workers take 12 days to weed a field.
How many days would 15 workers take to do the same task ? :
L 15 @) @121 s @ 16

58. % == Waﬁﬁréﬁﬁr 72aﬁa=n%amaaﬁgzﬁanwaaﬁgvﬁﬂt 4:6:7 3
B, WA o 7 feeft 2 -
(1) 20,30, 22 7 '. @ 22,2427
®) 19,2528 (@ 17,2530
The sum of the present ages of 3 persons is 72 years Seven years ago, their ages
Were in the rat10 4: 6 7 What are thelr present ages 2 9
(1) 20, 30, 22 years SO A "(2) 22, 24 26 years
3) - 19, 25, 28years ¢t i R 25, 30years

59. mﬁme%-q'tﬁ 10@%@3%@1 T 26 25 g i, mﬁaﬁwmmv
@1 = 1575 ALY (2)~ ? 500 . (3) T.650:25 . (4) < 55125
The true discount o on a bill due 10 months hence at 6% per annum is T 26-25. The
amount of the bill is :
1) T 1575 ) TH0 (3 T65025 (&) T 5512

60. T defia -, 50?@325&&@5:6:8mmmﬁaﬁa.mwﬁﬁw%m
¥ 420 318, T 50 I frtt 0N e 2 L .
(1) 210 (2) 126 38) 252 @ 70

A bag contains one-rupee, 50 paise and 25 paise coins in

the ratio5:6: 8. If the total
amount is ¥ 420, then the number of 50 paise coins is

(1) 210 (2) 126 (3) 252 @ 70

Poel] BIHTS! SR / SPACE FOR ROUGH WORK
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IR siedR R e ar galfes s, U @Em 9 wemeEn g
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(1) 10 %gard, 2019 (2) 14 gar, 2019

17 9w, 2019

610

(3) 14w, 2019 - (4)

American astronaut Christina Koch is the female astronaut spending longest period
in space. She spent 328 days in space. On , she took off from Earth.

(1) 10th February, 2019 @) 14t February, 2019

- 3) ‘14““ March, 2019 ‘ @ 17™ March, 2019
62. ﬁ?ﬁaﬂnﬁa%wmmwmﬁ Hﬁ@mﬁwqaﬁazw
mmméwwwﬁm@?ﬁaaﬁwww&w@?
1 RwmEd 4 (2) FeforT = |
@) foedagg 4) FI= A

Guinness World Records has taken note of adventure swimmer Prabhat Koli who
has won the Central Government Tenzing Norgay National Award and Maharashtra
State prestigious Shiv Chhatrapati Bravery Award. So far he has crossed six seas.
Among the followmg, Wh1ch one Water body has he not crossed ?

(1) Enghsh Channel (2) Catalma Channel

(3)  Strait of Gibraltar '(4) Suez Canal

‘qwaﬁta%zamrpﬂmsraqmﬁﬁwmwh gﬂﬁ130aﬁe‘1aﬁw@wméﬂm

63.
R ST &1 SIgAH STH FTel AR

(1) 24 2) 42

(3) 12 4 21

In the last 72 years after freedom, in our country of 130 crores population, only
persons have achieved the honour of ‘Param Vir Chakra’.

(2) 42
21

(1) 24
(3) 12 (4)

FoEg] HFTNIISE ST / SPACE FOR ROUGH WORK P.T.O.
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64. sy i A e T rir (gan) Wi e
amaﬁaﬁmmloaﬁﬁgmww IR Al N
. mmmesmmmmw
. AT T 30 BREE e W TRERHT ST TG

T maﬁaﬁmwm@wﬁmmm&amzﬂmmwm'
Uit I |

1) v« i A (2) ®H S

(3) A oMfir e 4) wFdSAMS

Select the inappropriate (wrong) option regarding Ayushman Bharat scheme. |
a. 10 crore Indian families will be benefited by this scheme. "
" b. Ayushman card holder family can avail medical treatment upto ¥ 5 lakh free o
cost. TR :
-¢. 30 crore Indian families will be benefited by this scheme.
d. 15 thousand Private HOSplta]S will get status of J an Arogya Mitra by thIS scheme.
Answer options: .

(1) Onlyb ' | (2) Only c
(8) Onlyaandc . (4) Onlybandd :
65. WWWWWWWWHW@W%WW
T e, ;
HHEUAT ’ ' Ha R

s g.4t.3m3. (UPI) L AN S0 eE-YEH

9. TIAE (A II. el e sraeen

%,  SL3.T. (GeM) I Sgedt A e

3. AEALEA (IoT) - IV. T AR o

B q - )

1 Iv I I III

(2) I V. T I

@3 1 II IV III

4) II-: I v I

- Choose the proper option which explains the concept.and 1ts utlhzatlon in dally life
w1th advancement of Information Technology. ;

 Concept , ~ Utilization

gy SUPL o 2o v I.  Artificial Knowledge. Exchange
b. Al ' I.  Digital payment system

c. - GeM o III.  Internet of things

d. IoT "~ IV.  Online platform by the Government
Answer options: n -
‘ a b e d

1 1Iv I II. 111

(2 III v I II

3 I II . Iv III

(4) 1II I IV III

Pl mﬂmﬁ ST / SPACE FOR ROUGH WORK
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T faer,
T4 7 o FUCTTEALT
A 2016-3M I Srd Gt
9. 2017 — SHEETE I g Tl
%, 2018 - Tge c L e R
8. 2019 - TR IV, TR TRt
A q -
() WM. I . IV I
@ Ty IS s v
® vV 1 - m I
@ I I\ I I

Choose the option which -:explain.sthe‘cdr_r‘ect‘ ordef of p‘l‘ace,,yeér and Chairperson
“regarding Akhil Bharatiya Marathi Natya Sammelan.

Year-Place ... Chairperson
a. 2016-Thane . = L »Jayaﬂ"q‘Savarkaf
b. 2017 — Osmanabad -~ IL ,;Preménand Gajvi
c. 2018-Mulund =~ IIL Kirti Shiledar
d. 2019-Nagpur =~ V. 'Gangaraih Gawankai'
Answer options: PR T ST
a b c od
(1) II II | A/
2 I I 5 T TV
@ IV TG uhh HI e e
@ 1. Tw e IR

67. g yew e e 7T FEeET a¥ 2018 — 19 =1 AN Frll AR T $F0
(1) eoarddfmea (2 164663 e
(3) 771215 0fH A : (4) 708445 Afdeh
How many metric tonnes (MT) of e-waste was decomposed and recycled during the
year 2018 — 19 as per the Central Pollution Control Board’s information ?
(1) 69414 MT (2) 164663 MT

(3 771215MT (4) 708445 MT

BT HHRITS! SR / SPACE FOR ROUGH WORK P.T.O.
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SN ) (4) R.M. Shinde

70.

20
=0 g ‘adl)

(]

NI T I SHUR IR TITR RECRIRIE] e 7
(1) 355G Ran ()T S T
(3) B“S] {”u\\] (4) am'qq. ﬁﬁ 2
d as ‘Queen’s Counsel’ of Queen of Britain !
(2) L.Nageswara Rao

Who has been appointe
(1) Ujjwal Nikam
(3)  Harish Salve

(3) w %, T anfiy o
The following is a re
a. Karnataka rank.
b. Maharashtra ra
c. Bengaluru rank

port on digital payment by The Era of Rising Fintech.
s first in the use of digital payments. .

nks second in the use of digital payments.

s first in digitised cities.

d. Hyderabad ranks second in digitised cities.

Which of the above sentences are correct ?
(1) Onlya,bandec (2) Onlyb,candd
(3) Onlyc,danda

(4) Onlyd,aandb
HWWWWWWWW (e oh™ WaTer)
TEITe Sholed Sm2 11 (IMPRINT-IT)

ALY o7 Feurlt Bis whard 2
9. N uHie e
b IMAIFA., W.ARA., AT, qefie A :
8. IR, Tamd., A e A, 3. T TELE. AR, 31 Fger gfreafiidieer
A9 : '
Tt I '
(1) %ad 3 enfr g (2) wFs
(8) W A, 9 M & | (4) %F F IMfor g

Who can participate in the Government of India
scheme to inculcate culture of innovation amon
a. Professors in Private Colleges

b.  Professorsin ITI

c.  Professors in IIT, NIT, IIIT _
d. Professors in IIT, NIT, IIIT, IISER and Central Universities
Answer options :

(1) Onlyaandb (2) Onlyd

(3) Onlya,bandc (4) Onlycandd

(MHRD) proposed IMPRINT-II
g higher education institutes i

e PIITATS! ST / SPACE FOR ROUGH WORK
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N&@ﬁmﬁamﬁgwﬁmﬁmwﬁmﬁuw%ﬁm@ﬁmﬁmm a7
ferememtan SR Rren S 7 v o, Frar @ gt Qe g ST Fe Hvamd

ST gE ell I,

(1) v S S @R A

(2) WIS i, SRR AegH THR q

(8) TR WS Y S e

@) e v s Ao

For students belongmg to the Scheduled Castes and Neo Buddhist class who did not

get admission in the Government hostels, to enable them to take post matric

education, the Government has started for their lodging, boarding and

educatlonal facilities.

(1) Padmashree Baba Amte Swadhar Yojana

(2) Bharat Ratna Dr. Babasaheb Ambedkar Swadhar Yojana

(3) Karmaveer Bhaurao Patil Aadhar Yojana :

(4) Savitribai Phule Aadhar Yojana '

72.

R gl wewtaTE) 103 = HeAIGERN 2019 WEA WRAW UsdEe <Al S 15(6) Mfur

16(6) TEA Ydiet ST FHIG 0 3Te. A g fFEet.

3. meawwmmmmmmmm
7 O AW oal 35

9. nfis e 139% wa SRev TEI TE.

F. A AREOTET oY Rl 7 Awdfaeas ST A asd.

T  oftie ArmEeria 10%qﬁamwn%wrraﬁﬂ

aﬂaﬁﬁﬁvﬁmaﬂmmﬁ?
1) mawﬁrg - s (2) o, 9, % A0S
(3) BE A, FHAME . - (@) wRIANE

For economlcally backward classes, by the 103™ Constitutional Amendment in 2019,
Article 15(6) and 16(6) of the Indian Constitution, followmg prowsmns are made.

Choose the correct option.
This reservation can be availed by persons not beneﬁtlng by schemes for SC,

ST, OBC. _
b. The reservation proportion will be upto 13% for economically backward classes..

c. This reservation is for education and job related benefits.
d. The reservation proportion will be upto 10% for economica_lly backward classes.

a.

Which of the above sentences are correct ?

Answer options: |
(1) Onlycandd (@) a,b,candd
(3) Onlya,candd - _ (4) Onlybandc

FT] HTHTEIS SR / SPACE FOR ROUGH WORK | PTO.
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(D) wlagd f3.a1, fraga
@ R

(3) Hiwd 7w TremaR
(4) weater 3. @T’éﬁ |

Prof. Anil Gore, known as ‘Marathl Kaka’, was awarded State Government
award 2019 for populansmg Marathl language

(1) Poet V.V. thrwadka;- '

(2) Poet B.R. Tambe

(3) Poet Mangesh Padgéonka‘x" ! ‘4
(4) Novelist V.S. Khandekax"“‘ o |

74.

m@amﬁmw(maﬁaq)%wwmwwﬁﬁﬂﬁmqﬁé

1) wwE
(2) o
(3) difza AR
(4) Ty smi

4y ‘ | .

Who is the ﬁrst Indian to be appomted as General Vlce PreSIdent of Internatlonal
Organisation Development Assoc1at1on (IODA) et

(1) Rajesh Reddy
(2) Vinaya Shetty
(3) Mohit Kumar
(4) Nidhi Sharma

HoeT BIHTATS! ST / SPACE FOR ROUGH WORK
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(1) TR
@ = fer
(3) UM
(4) s

The Indlan Space Research Organization (ISRO) Wlll launch an unmanned

campaign in December 2020.
(1) Gaganyaan . |
(2) Vyom Mitra

(3) Robonaut '

4) f_‘edor

76. -@wﬁaﬁmﬁﬁmﬁmaﬁwaﬁ'?
(1) qﬁmaﬁwzsswmzeaﬁarﬁ 195oﬁsﬂnwazﬁatwmm.

wwwwamﬁmm@mﬂem
(3) Wﬁm@méﬁﬁmmmmﬁ

(4) aﬁaﬁaﬁwm

Which one of the following‘statements is correct ?

(1) On 26th Januarjr, 1950, 288 members of the Constituent Assembly signed the

Constitution. -
(2) ‘Procedure established by Law’ Was adopted from the Constitution of the
'United Sates of America.

The idea of ‘Joint sitting of two Houses of Parliament’ was taken from the

(3)

British Constitution.
(4) None of the above

HTRT HIHTATS! GIFTT / SPACE FOR ROUGH WORK

P.T.O.



A14

~1
~7

WA s e’ el wiellet faure femd =

30
t afegh Fo T A0

Heo QUM R Usamedan o vt anfor w=ifa FATY
RIS RSP e R 53 9w w31 FREECT
il a3,

| wmwmwwmmﬁ?ﬂ !
fomtelt .

RRIEIR

(1) foum s

(2) Taum st
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@) I fa gheh 5

Consider the following statements about the ‘Preamble’ of the Indian Constitution :

a. It states the objects which the Constitution seeks to establish and promote and
also aids the legal interpretation of the Const1tut10n Where the language is
found to be ambiguous. | |

b.

. Like any other part of the Constltutlon the ‘Preamble was not enacted by the

Constituent Assembly.

Answer options:

(1)
(2)
(3)
4)

Statement a is correct PINERICTRE LTS T ‘
Statement b is correct J‘ ‘ '
Both the statements are correct

Both the statements are mcorrect

78.

. S ﬁmmﬁﬂwmﬁmﬁﬁﬁaﬁwﬁmﬂmmwn@nﬁ
T e S B 2

(1)
(2)
3
4)

m@aw%mmﬁﬁmmmm i
@‘TWWW@WWﬂMWW

RAT e @ SreshAefier sharen aRom g,
Wmﬁwwmwﬁm%awmwéﬁw&m@@w

Y 3]

As observed by Prof. K.C. Wheare, which one of the followmg statements correctly
shows the true nature of the Indian Federal System ?

(1)
(2)

(3)
4)

The Indian Federation is more a functional than an 1nst1tut10nal concept.

A one dominant party regime wh1ch is in conflict with the principles of
federalism.

The Indian federation is not the result of an agreement between the units.

It is a unitary state with subsidiary federal features rather than a federal state
with subsidiary unitary features.

| HTeg] HTHIATS! SIFT / SPACE FOR ROUGH WORK
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- (3) T R e
@) F@femgHn .
| Consi_der't}'le following statements

a. It is a joint responsibi‘lity‘of the Sarpanch and Upa Sarpanch to maintain
secured custody and pi'bper safety of proceeding register and other relevant

records of ‘the Gram Sabha.

b. The first meétin_g of the Gram Sabha in every financial year shall be held
within two months from the comme_ncemeht of that year.

Answer options' :

(1) Statementa is correct |

(2) Statement b is correct

(3) Both the statements are correct

(4) Both the statements are incorrect

ST HMTETS! SIF / SPACE FOR ROUGH WORK
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it I
(1) Rum e . ‘ (.2)‘ Y 7 T
(3) TR faum s T (‘4)'-@?5‘1-5&%&1%:3@&&

Consider the follox;ving statements :

a. Any resolution of Gram Panchayat shall be modified, arnended, varied or
cancelled by a Panchayat after a period of three months from the date of the

passing thereof by another resolution supported by s1mple maJorlty

b. No resolution of Gram Panchayat shall 'be modlﬁed amended varied or
cancelled by a Panchayat Wlthm a period of three months from the date of the

passing thereof, except by a. resolutlon supported by two-thlrd of the total
number of members of such Panchayat

Answer options :
'(1) Statement a is correct : (2) Statement b is correct
(3) Both the statements are correct (4) Both the statements are incorrect

81. mawmmwmtﬁﬁaﬂaﬁww@ﬁ?
(1) e e b ) FI T
(3) ed fafefrm | (4) @ e

The judicial control over administrative actions emanates from the Doctrine of

(1) Judiciel Review (2) Rule of Law

(3) Delegated Legislation (4) Separation of Powers

HoegT HIETATS! SIATT / SPACE FOR ROUGH WORK
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Which of the following has been wrongly listed as a recommendation of the
‘Punchhi’ Commission with regard to the Governor ? -

(1) 'He should have the power to sanction prosecution of a working or retired
minister without or against the advice of Council of Ministers.

(2) He may be removed by a resolution of impeachment passed by the State

Leglslatlve Assembly

: (3) He may be removed by resolution of 1mpeachment passed by the Rajya Sabha

and agreed to by the Lok Sabha.

(4) ‘Article - 163 of the Constitution should be amended in a Way that he may not
be able to exercise his dlscretlonary powers in an arbitrary manner. :

83.

T U @0 AfAH (RGSA) F1 3R 2
(1) IR T ST T S R ST AT T O A
(2)  frafis e o i % ) e s o e

(8) TTETEAT AR Hae STefuareh deEr

@) wiaﬁﬁ 9z s ATy e 2 Ao
What is Rashtriya Gram SwaraJ Abhlyan (RGSA) ? ?

(1) It is a scheme aimed to enable Panchayat Raj 1nst1tut10ns to prepare Gram
Panchayat Development plans

(2) It is a scheme for promoting regular Gram Sabha and their records
(3) It is a scheme for increasing voting at village level

4) Itisa scheme for promoting direct election of the Sarpanch
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T Tieerar witde svery o
S feremidy Hae faum/A woR ey 2
(1) wFaer | ’
) A A MBSHIIVED GITARMAGAZINE

0\ 1.50uf ufden amfaefar Za;;ﬁml?ﬁmﬁa% 1T WER AfERN A s fTaT ..
: WHATSAPP T2 fargsauaramst

(3) 3? WﬁTH‘&I‘-—‘@p{ mm}mmsnppm 9028.59 61 57
4) ) % ﬁ :I'@ JOIN’ Se¥sT T

Consider the following statements :

;@ Public Accounts Committee has seven members of the Rajya SabHaJ (1

b Itis mentioned in the rules of day-to-day business of Lok Sabha that a member
of Op.pos'?tmn will be the chairperson of Public Accounts Committee. '

Which is/are the iﬁcorrect statements from the above ?
(1) Onlya

(2) Onlyb

(3) Bothaandb

(4) None of the above

85. YA V¥H ST oo At e e,
(1) g o fasn
(2) IRl dLEE. SR
- (3) —art ARt S
(4) =l sk fam @
First Lokpal of India is
(1) Justice Dipak Misra
(2) Justice T.S. Thakur
(3) Justice Pinaki Chandra Ghose
(4) Justice Jagdish Singh Khehar
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(D 3. gEEt ) faan s

@) =gt TR (4) ST T FY
started an association by the name ‘Granthottejak Mandali’ at Naghik,

(1) V.D. Savarkar | (2)  V.V.Shirwadkar

(3) Justice Ranade (4) Anant Laxman Kanhere
87. 18853 1915 a1 F@E @ Y1 i ToT T SAlesEe S,

(1) ST Yo S (2) WIS gl wTS

(3) TR A () et e

During the period 1885 to 1915 ___ was known as the uncoronated king of

Bombay. (o : :

(1) Jagannath Shankar Sheth (2) Bhau Daji Lad |

(3) Dadabhai Naorop ' i (4) Pherozeshah Mehta
88. @mﬁmwmmwmmwmﬁmawmwﬁmﬁgﬁ ?

&, <. e wigd, . A MR

g mm&ﬁm,mmm

5. fage o iR, = mEka e TS
T. Tﬁi%raﬁgagé trw%au's'aﬁ"qﬁ | ,.

1) ma,amﬁrg @ wwaaatE
(3) %I 4, AT g o i (4) R 37 STT |

Who from the following have worked for religious and social reforms through
Prarthana Samaj ?

a. Dr. Atmaram Pandurang, Dr. R. G Bhandarkar .

b. Vaman Abaji Modak, Narayan Ganesh Chandavarkar e

c.  Vitthal Ramji Shinde, Justice Mahadev Govind Ranade

d. Govind Vitthal Kunte, Rao Saheb Mandlik

Answer options: |

(1) Onlya,bandd (2) Onlya,bandc

(3) Onlyb,candd (4). Onlyaandb
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89, wrelielt woren el 1290, 1875 140 i) fifﬂmmm T
D @ (3) oTEHGTT )
Where did the first revolt of farmers take place on 12th May, 1875 7 Sola 'ur
(1) Pune (2) Supe (3) Ahmednagar -(4) S01aP
90. wrfie e gear
1857 =T SSTaT=l Sy n
A s [ L 3o i swdd 98l
3. TR I o Yeaw |
®. SHRgE ML e we
3. HNIE IV, wEque HiE
IPRER- NS EURN - .
MV m o o1
2 Iv . IO, I I,
@) IV AL ST T
COTME NS ST 1| QY |
Match the fo'llowin'é ‘ ot R L
Centres of the Revolt of 1857 8 Leaders e TR .
a. Peth R s : L Va1kappa Na1k Balwant Behan
b. Nargund e : ! I1. _'Ramchandra Patwardhan ‘
¢. Jamkhandi L A e e e R
~d. Shorapur © . | Iv. Bhagwantrao Koh
Answeroptions: L
S - RRTH | J AR Y, |
M IV M U I |
(2) - IV I IS el e
@ IV 1 I O
4 IVv I I II. . iy ] !
91. ama?ﬁwwm%ﬁwﬁram@r%@mﬁ’w“ﬁ@ . wm.
(1) < saarh (@ «Efw
@) ffEmdm @ AR
The demand for freedom for the colonies was like asking for the moon,‘said
(1) - Lord Dalhousie ‘ (2) Lord Ripon
(3) William Jones (4) Lord Morley
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B et » i
g R (4) e ST
e first telegraph line ; 1
Dalhonsie's ime. as laid from to during Lord
(1) Calcutta to Delhi (2) Madras to Delhi
(8) Calcutta to Madras (4) Calcutta to Agra
e
93. 1875MWWWWWWWW@WMW
T Ee 2
() TWEmAEE@E: 0 0 (9) AREY T WER
(3) Mg e (4) aEs g
Who from the following was in the forefront to unite the workers to form their
assocratlon in 1875 ?
(1) Narayan Meghaji Lokhande (2) . Narayan Rao Pawar
. (3) Shapurji Bengali : @ Sorabji Shapurji
94, TS TTHTH WEHAUh! hiomeat maﬂawﬁiﬁmaﬁ@nw%vﬁﬁ?ﬁ
(1) e e (@) - @ TR
@) e qrriﬁmq : (4) ?rqzqz JoTH
Under whose chalrmanshrp did the Bombay Government estabhsh the Railway
Board ? '/
(1) Lieutenant Prescott : (2)' Lord,Dalhousie
(3) Lord Elphinstone (4 Lieutenant Nelson
95. I TG e : | | ‘
(1) wEmd Sy — g s P iR
2) g 3 gk T SR e
(@) WEEem  — & o R 3N o T e
(4) wRewERE  — g I R R
Find out the wrong pair : -
(1) Sarala Devi Chaudhurani — The All India Women's Council
(2) Dr. Annie Besant —  The Women’s Indian Association
(38) Meherbai Tata — The National Council of Women in India
(4) Margaret Cousins —  The All India Women’s Conference
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96. aélszou@ﬁvmﬁ@ﬁdm?ﬂgsﬁiﬁmwﬁﬂgw?j
(1) o e e e -
@) TRy e wa aEdt
3) urawd B Moy e GBI
(4) wwitew fem : e 1820 ?
Which society started a school for Bengah girls in Calcutta 12 o
(1) Calcutta Female Juvenile Society
(2) British Foreign School Society
(38) Society for Native Fema]e Education :
4) Scottlsh Mission i it ; pn it 0 R
g S et e T
o1, _ 2w wed s@emddmaR.
(1) e () gt w5 (8) ﬁ-aa{( -_'(4) - aFciTe
was the centre of 'Wahabl movement in North India ok
(1) Patna (2 Delhi . (3 Firozpur (4) Allgarh
98, @mwwwmﬁwmﬁmmmﬁ

-31 H@mwwaﬁ H‘q'rfiraiﬁﬁasﬁ

4. waREE Tge e, W fige e
&. ﬁm;qaa% ﬁ;maﬁmmwm R

(1) & 3, 9 1. @ W, wANE
@) G RN E 5 i m i Ye) Wﬁmﬁrg

Who from the followmg persons helped J y0t1ba Phu]e to run a Girls School in Pune ?

a. Sakharam Yashwant Paran_] pe, Sadashlv Govmd Hate

| b. Sadashwrao Ballal Govande, Moro Vitthal Walvekar

c.  Vishnupant Thatte, Keshav Shivram Bhawalkar
d. Kashirao Deshmukh, Haribhau Chavan

. Answer options:

(1) Onlya,bandc ; (2) Onlya,candd
(3) Onlyaandb (4) Onlycandd
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. TOTEH WA S I i St goreRt
s foemwwt I o fese
F. T T STl I, AR G
. SR gl v, il fReE
TER IW

H q B g
o I III v 1II
@ 1 I I IV
@) I I v I
4) Iv IO Im I
Match the following : , ‘ |
a. Paramahansa Mata Prasamsha | I i Gujaba Joshi Punekér
b ViharLahari .~ IL ' Krushnashastri Chiplunkar
c. Follower of Sakta Gt " II. Morbhat Dandekar
d. Dadoba Pandurang‘ V. ;Dharina Vivechan
Answer optidns : iy | o '

a b ¢ . d ;
@1 m VoI
@ I m m IV
3) I I v I
@ Iv T ILi i

100. wmwm@ﬁmmmmmm | e e e

@ aﬁwméw T Y R
3) g fd o0 (4) YA Bl
The day Lokmanya Tilak passed away, the éame day Gandhiji’s movement
was launched in Bombay. '
(1) Civil Disobedience (2) - Non-Cooperation
(3) Anti Liquor | (4) Quit India
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